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Answer each question below. Find your answers on the attached answer key and notice the word next to
it. Write this word in the box containing the letter of that question. Keep working and you will hear about
a mistake.
bX: T &X
A) A triangle with a perimeter of 63 feet has side lengths in the extended ratio of 6 : 7 : 8. Find the length of
the longest side.
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B) Giventhat —=—, find AB to the nearest tenth. The figure is not drawn to scale.
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C) ACGL~AMPS . The similarity ratio of ACGLto AMPSis5:2. What is the length of pPS?
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E) The town of Goodland, Kansas, claims that it has one of the world’s largest easels. It holds an
enlargement of a van Gogh painting that is 24 ft wide. The original painting is 58 cm wide and 73 cm tall.
* If the reproduction is similar to the original, what is the height of the reproduction to the nearest foot?
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F) A statue of Scottish hero William Wallace is located in Druid Hill Park. A student looks into a mirror and
sees the top of the statue reflected there. Use the information below to determine the unknown height of
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the statue.
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G) Find the scale factor of the dilation
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H) Under a dilation with the origin as the center of dilation, triangle A(0, 0), B(0, 4), C(6, 0) becomes triangle
A’(0, 0), B’(0, 10), C’(15, 0). What is the scale factor for this dilation?
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J) The scale on the map of the state of CT is 1.5 in is 15 miles. If Newington and New Haven are 2.5 in away
on the map, what is the actual distance between the two cities?
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K) Rewrite the ratio so that the numerator and the denominator have the same units. Be sure to simplify!
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L) What similarity theorem can be used to prove that the two triangles are similar?
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M) What similarity theorem can be used to prove ATUX ~ ATWX
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Is AJAK ~ AWSY ? If yes, what similarity theorem can be used? If no, write “Not similar”.
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0) Identify the similar triangles in the diagram below.
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P) Find the value of x in the diagram below.
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Answer Key
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